= St
+ T = 1 = (—#% D)
ezl R L v
No.0~No.0+2. 5m
V= 0.28 X  2.50 0. 70
No.0+10. 5m~No.0+11. 5m
Vo= 0.28 X 1.00 0. 28
No.0+ 16. Om~No.0+32. Om
V3= 0.36 X 16.00 5.76
No.0+61. Om~No.0+117. Om
Vi=  1.36 X 56.00 76. 16
No.0+139. 0m~No.0+260. Om
V5= 0.68 X 121.00 82. 28
No.0+260. 0m~No.0+280. Om
Ve=  1.60 X 20.00 32. 00
No.0+291. 0m~No.0+303. Om
V7= 0.76 X 12.00 9.12
No.0+321. 0m~No.0+352. 5m
ve=  0.18 X  31.50 5.67
No.0+365. 0m~No.0+411. 5m
V9= 0.42 X 46.50 19.53
> 231.50 m3 231.5
tpbssE V= 231,50 9231.50 | m3 231.5
(N T3
BA OL—=x) V= 231.50 9231.50 | m3 231.5
tpbssE V= 231,50 9231.50 | m3 231.5
sy V= 231,50 9231.50 | m3 231.5




=N =
W & L F H (—3% 1)
% E T
et (BAL) % TAEVAERT X L 0
REEHD Vi=  0.665 X 29.0 19. 29
REEKR@ V2= 0.699 X  36.5 25.51
R E%®  v3= (1.085 + 1.157) / 2.0 X 10.0 11.21
REERK@ V4=  0.640 X 5.0 3. 20
59.21  m3 59. 2
#RbF] (t=10cm)
RC-40 % TAEAERT X L 0
REEKD  Vi=  0.210 X 29.0 6. 09
REEK@ V2= 0.210 X  36.5 7.67
REEKB V3= 0.210 X  10.0 2.10
REERK@ V4= 0.210 X 5.0 1.05
16.91  m3 16.9
TR T
AR
REEKDO A= 0.283 X 29.0 X 2.0 16. 41
REREK@ A2=  0.425 X 36.5 15. 51
REEKB  A3=  (0.707 + 0.978) / 2.0 X  10.0
(0.283 4+ 0.000) / 2.0 X  10.0 9.84
RERER@® A= (0.707 4+ 0.141) X 10.0 8. 48
50.24  m2 50. 2
ezl V= 59.21 + 16.91 76.12  m3 76. 1
T V= 76. 12 76.12  m3 76. 1
MEHEAK T
K+ 5 T BUE - BRIE - R
1~3TX N= 3.4 / 1.1 =3.091 = 4 X 8.00 4% 8.0
KA+ 5 T BRIE - s
4T X N= 2.6 / 1.1 =2.364 = 3 X 6.00 1§ 6.0
A+ V= 3.14 / 4 .1~ 2 X 1.08 / 1.2
X 8.0 6.84  m3 6.8
KEEZT N=  1.00 .00 = 1.0
WREHEKE L= 194.0 + 140.0 +  82.0 416.0 m 416. 0
TrbssE V= 6. 84 6.84 m3 6.8
HURRE SR W= 14.00 X 0.0025 0.04 ¢t 0. 04




per 7o W= 14.00 X 2. 50 = 35.00 kg 35.00




